
  

MAY 2012 U/ID 2038/UPA 

Time : Three hours Maximum : 100 marks 

PART A — (25 × 1 = 25 marks) 

Answer ALL questions. 

All questions carry equal marks. 

 Choose the correct answer from the given 

alternatives : 

1. The concept of ‘Labour welfare’ is a  

 (a) rigid concept   (b) flexible concept  (c) neither 

rigid nor flexible concept   (d) None of these 

 öuõÈ»õÍº |»ß GßÓ ÷Põm£õk 

 (A) ö|QÇõ ÷Põm£õk (B) ö|QÊ® ÷Põm£õk  
(C) ö|QÇõ ©ØÖ® ö|QÊ® ÷Põm£õk  
(D) ÷©ØTÔ¯ÁØÔÀ GxÄªÀø» 

2. The concept of 'Welfare' connotes the desirable 

state of living 

 (a) Physically Well (b) Mentally Well  (c) Morally 

and emotionally Well (d) All of these 

 GzuøP¯ ÁõÌÄ {ø»ø¯ ‘|»ß’ GßÓ ÷Põm£õk 
SÔUQÓx? 

 (A) ¦ÓÁõÌÄ (B) APÁõÌÄ (C) JÊUP ©ØÖ® 
EnºÄ |»® (D) ÷©ØTÔ¯ AøÚzx® 
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3. Which act has provisions for appointment of 

welfare officer?  

 (a) Mines Act 1952 (b) Plantation Workers Act 

1952  (c) Factories Act 1948  (d) Motor Transport 

Workers Act 1961 

 öuõÈ»õÍº |» A¾Á»º {¯ª¨£x öuõhº£õÚ 

ÂvPøÍ Ga\mh® öPõskÒÍx?  

 (A) 1952® Bsøh¯ _µ[P öuõÈ»õÍº \mh® 

 (B) 1952® Bsøh¯ ÷uõmh öuõÈ»õÍº \mh® 

 (C) 1948® Bsøh¯ öuõÈØ\õø» \mh® 

 (D) 1961® Bsøh¯ ÷©õmhõº ÁõPÚ 

öuõÈ»õÍºPÒ \mh® 

4. The rate of absenteeism is high in the industries? 

 (a) Textile (b) Cement   (c) Paper   (d) Iron and 

steel 

 £oUS ©mh® ÷£õkuÀ GzöuõÈØ\õø»PÎÀ 

AvP® EÒÍx? 

 (A) öhUìøhÀ (B) ]ö©sm (C) ÷£¨£º 

(D) C¸®¦ ©ØÖ® GLS 

5. The employees state Insurance Act was passed in 

the year 

 (a) 1947  (b) 1948  (c) 1949  (d) 1950 
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 ©õ{» öuõÈ»õÍº Põ¨¥mk vmh® öPõsk 
Áµ¨£mh Bsk 

 (A) 1947  (B) 1948  (C) 1949  (D) 1950 

6. The Child Labour Act was passed in the year 

 (a) 1985  (b) 1986  (c) 1987  (d) 1988 

 SÇ¢øu öuõÈ»õÍº \mh® C¯ØÓ¨£mh Bsk 

  (A) 1985  (B) 1986  (C) 1987  (D) 1988 

7. In which year Industrial Disputes Act was passed 

by the Government of India? 

 (a) 1947  (b) 1950  (c) 1952  (d) 1966 

 öuõÈÀ \a\µÄPÒ \mh® C¢v¯ Aµ\õ[PzuõÀ G¢u 

Bsk {øÓ÷ÁØÓ¨£mhx? 

 (A) 1947  (B) 1950  (C) 1952  (D) 1966 

8. Who was the founder of All India Trade Union 

federation? 

 (a) S.V. Desh Pande  (b) B.J.Ranadive   

(c) N.M. Joshi  (d) J.N. Mitra 

 AQ» C¢v¯ öuõÈØ\[Pzøu {ÖÂ¯º ¯õº? 

 (A) Gì.Â. ÷uè £õs÷h (B) ¤.÷á. µnõ÷uÆ  

(C) Gß. G®. ÷áõæ (D) ÷á. Gß. ªzµõ 
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9. At where ILO’s Regional office is situated in India? 

 (a) Mumbai (b) Kolkatta (c) Chennai  (d) New 

Delhi 

 C¢v¯õÂÀ ILOÂß ¤µõ¢v¯ A¾Á»P® G[S 
Aø©¢xÒÍx? 

 (A) •®ø£ (B) öPõÀPzuõ (C) ö\ßøÚ  
(D) ¦xöhÀ¼ 

10. When did ILO come into existence? 

 (a) 1904  (b) 1910  (c) 1919  (d) 1947 

 G¢u Bsk •uÀ I.GÀ.K. £ßÚõmk öuõÈ»õÍº 
Aø©¨¦ ö\¯À£hz öuõh[Q¯x? 

 (A) 1904  (B) 1910  (C) 1919  (D) 1947 

 Fill in the blanks : 

11. ‘Labour welfare’ is listed under ———————. 

 ——————— £mi¯¼À ‘öuõÈ»õÍº |»ß’ 

Ch®ö£ØÖÒÍx. 

12. Ensuring safety to the workers, to the 

responsibility of ———————. 

 öuõÈ»õÍºPÐUS öuõÈØ\õø» Â£zx £õxPõ¨¦ 

AÎUP ÷Ási¯ ö£õÖ¨¦ ——————— \õ¸®. 
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13. The Central Board for Workers Education was set 

up in ———————. 

 öuõÈ»õÍºPÐUPõÚ PÀÂø¯ ©zv¯ Bøn¯® 

HØ£kzv¯ Bsk ———————. 

14. ——————— Commission on recommended the 

appointment of labour officers. 

 ——————— SÊ öuõÈ»õÍº |» A¾Á»øµ 

{¯ªUP £›¢xøµ ö\´ux. 

15. Equal Remuneration Act was passed in the year  

———————. 

 \© Fv¯ vmh® {øÓ÷ÁØÓ¨£mh Bsk  

———————. 

16. The Employees provident Funds Act was passed in 

the year ———————. 

 £o¯õÍºPÐUPõÚ øÁ¨¦ {v \mh® C¯ØÓ¨£mh 

Bsk ——————— BS®. 

17. Strikes and lock-outs are dealt with by  

——————— Act 1947. 

 ——————— 1947&À \mh® ÷Áø»{Özu® ©ØÖ® 

PuÁøh¨¦ ÷£õßÓ ¤µa\øÚPÐUS wºÄ PõsQÓx. 
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18. The first trade union in India was established in 

the year ———————. 

 C¢v¯õÂÀ •uÀ öuõÈØ\[P® ——————— 
Bsk Bµ®¤UP¨£mhx. 

19. ILO was awarded Nobel Prize for peace at the year 

———————. 

 Aø©vUPõÚ ÷|õ£À \©õuõÚ £›_ I.GÀ.K.US 
ÁÇ[P¨£mh Bsk ———————. 

20. ILO started functioning with  ———————

members in 1919. 

 1919® Bsk ——————— EÖ¨¦ |õkPøÍ 
öPõsk I.GÀ.K. ö\¯À£hz öuõh[Q¯x. 

 True or False : 

21. ‘Labour welfare’ is listed under state. 

 öuõÈ»õÍº |»ß ©õ{» £mi¯¼À Ch®ö£ØÖÒÍx. 

22. The Royal Commission recommended the 

appointment of labour welfare officers. 

 µõ¯À SÊ öuõÈ»õÍº |» A¾Á»øµ {¯©Ú® 
ö\´¯ £›¢xøµ ö\´ux. 

23. Part IV of the Indian constitution deals with social 

security. 

 C¢v¯ Aµ]¯»ø©¨¤ß |õßPõÁx £Sv \‰P 
£õxPõ¨¦ £ØÔ TÖQÓx. 
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24. AITUC is a political party. 

 H.I.i.².]. J¸ Aµ]¯À Pm]. 

25. ILO has its head quarters at Geneva. 

 I.GÀ.K.Âß uø»ø© Ch® öáÛÁõÂÀ 

ö\¯À£kQÓx. 

PART B — (5 × 6 = 30 marks) 

Answer any FIVE questions not exceeding  

500 words each. 

All questions carry equal marks. 

26. Explain the concept of ‘Labour welfare’. 

 ‘öuõÈ»õÍº |»ß’ GßÓ ÷Põm£õmøh Bµõ´P. 

27. Explain the Functional theory of Labour welfare. 

 öuõÈ»õÍº |»ß £ØÔ¯ £o\õº ÷Põm£õmiøÚ 

ÂÍUSP. 

28. Explicate the causes of Industrial Accidents. 

 öuõÈØ\õø» Â£zxPÐUPõÚ Põµn[PøÍ ÂÁ›. 

29. Write short notes on National safety council. 

 ÷u]¯ Â£zx £õxPõ¨¦ SÊ £ØÔ SÔ¨¦ ÁøµP. 
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30. Bring out the problems of Agricultural labour. 

 ÷ÁÍõsø© öuõÈ»õÍºPÎß ¤µa\øÚPøÍ 

öÁÎ¨£kzxP. 

31. Explain the meaning of wages. 

 ‘T¼’ Gß£uß ö£õ¸Ò £ØÔ ÂÍUSP. 

32. Explicate the method of calculation of bonus. 

 ÷£õÚì PnUQk® Âu® £ØÔ ÂÍUSP. 

33. Explain the idea of worker’s participation in 

Management. 

 {ºÁõPzvÀ öuõÈ»õÍºPÒ £[÷PØS® vmh® £ØÔ 

ÂÍUSP. 

PART C — (3 × 15 = 45 marks) 

Answer ALL questions not exceeding 1,200 words each. 

All questions carry equal marks. 

34. (a) Describe the various theories of Labour     

Welfare. 

  öuõÈ»õÍº |»ß £ØÔ¯ £À÷ÁÖ 

÷Põm£õkPøÍ ÂÁ›. 

Or 
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 (b) Explain the significance of working 

condition. 

  £o¯õØÖ® `Ç¼ß •UQ¯zxÁzøu Bµõ´P. 

35. (a) Summarize the measures intended for 

preventing Industrial Accidents.  

  öuõÈØ\õø» Â£zøu uk¨£uØPõÚ 

ÁÈ•øÓPøÍ öuõSzx TÖP. 

Or 

 (b) Write down the important features of any 

three social security acts. 

  öuõÈ»õÍºPÒ \‰P £õxPõ¨¤ØPõP 

C¯ØÓ¨£mh \mh[PÎÀ, H÷uÝ® ‰ßÖ 

\mh[PÎß •UQ¯ TÖPøÍ GkzöuÊxP. 

36. (a) Examine the characteristic features of 

Indian Trade unions. 

  C¢v¯ öuõÈØ\[P[PÎß ]Ó¨¦ TÖPøÍ 

Bµõ´P. 

Or 
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 (b) Write an essay on ILO and Labour. 

  I.GÀ.K.Ä® & öuõÈ»õÍº |»Ý® £ØÔ J¸ 
Pmkøµ ÁøµP. 

———————– 


